9049 Tyler Blvd. « Mentor, Ohio 44060

Phone (440) 974-8888 * Fax (800) 841-8003
www.saltdogg.com

Installation Instructions

3022060 Universal Stainless
Steel Folding Spreader Ladder

NUT NYLOCK 1/2-13
WASHER FLAT 1/2"
SCREW 1/2-13X1.0

MOUNTING BRACKET
#3022379

LOOSELY ATTACH BRACKET TO LADDER.
POSITION BRACKET ON HOPPER REAR
WALL. WELD BRACKET TO HOPPER.
TIGHTEN HARDWARE.

LADDER ASSEMBLY
REMOVE AND DISCARD SCREWS AND NUTS. #3022160

ATTACH LADDER TO HOPPER USING
3/8-16 X 1.25 LONG SCREWS, 3/8 NUTS,

AND 3/8 WASHERS FROM KIT

Bill of Materials WARRANTY
Buyers Products Co. warrants all truck/trailer hardware manufac-
ITEM PARTNO.  QTY. DESCRIPTION tured or distributed by it, to be free from defects in material and
1 3022160 Ladder Assembly workmanship for a period of one year from date of shipment. Parts

Mounting Bracket must be properly installed and used under normal conditions. Any
Screw, HHC-38-16 x 1.125 SST product which has been altered, including modification, misuse,
Washer. Flat .500 x 1.38 x.14 ZN accident or lack of maintenance will not be considered under

1
3022379 1
2
4 . -
_ 2 Nut, Nylock 1/2-13 SS warranty. Normal wear is excluded. The sole responsibility of
2
4

Screw, HHC-1/2-13 x 1 SST Buyers Products Co. under this Warranty is limited to rgpairing or
Washer, Flat 3/8 x 1.5 x.120 SST replacing any part_or parts which are returned, prepgld, _and are

L found to be defective by Buyers Products Co. Authorization from
Buyers Products Co. must be obtained before returning any part.
No charges for transportation or labor performed on Buyers' prod-
ucts will be allowed under this warranty.

3022481 Rev.B



